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BPSC izkFkfed f'k{kd ijh{kk 3.0
Hkk"kk ,oa lkekU; v?;;u

ijh{kk frfFk– 20/07/2024 

PART-I 
(LANGUAGE/Hkk"kk)

Directions (Q. Nos. E-1-E-5): 
Read the passage given below and 
on the basis of the passage, answer 
the questions that follow.

People are always communicating, 
verbally and non-verbally. Research 
shows that only seven percent of 
communication is through words. 
The rest of the communication 
process takes place through body 
language, eye contact and the 
various signals words cannot 
convey. A person should be sensitive 
enough to understand as to how the 
communication is being received 
and processed. All communication 
should be sensitive to eye movement, 
posture and gesture, skin colour, 
breathing rate and facial expression 
to be understood completely.
1. Words communicate just

(a) seventy (b) seven
(c) hundred
(d) More than one of the above
(e) None of the above

2. These are some nouns from the 
passage
(a) body, person
(b) should, through
(c) being, how
(d) More than one of the above
(e) None of the above

3. Communication must include
(a) eye movement
(b) breathing rate
(c) body language
(d) More than one of the above
(e) None of the above

4. Which are the two kinds of 
communication?
(a) Verbal and non-verbal
(b) Posture and gesture
(c) Spoken and written
(d) More than one of the above
(e) None of the above

5. The passage is about
(a) Disadvantages of words
(b) Nature of communication

(c) Communication failure
(d) More than one of the above
(e) None of the above

Directions (Q. Nos. E-6-E-8): 
Fill in the blanks with the correct 
options.
6. Had we .............punctual, we 

would have ...................the 
train.
(a) been, caught
(b) were, boarded
(c) are, got
(d) More than one of the above
(e) None of the above

7. You can't _______ with other 
people.
(a) arguing (b) shouted
(c) quarreling
(d) More than one of the above
(e) None of the above

8. Since she is a _______, she has 
to talk a lot.
(a) jockey (b) cook
(c) radio jockey
(d) More than one of the above
(e) None of the above

(HINDI LANGUAGE)
^funZs'k (ç- la- 9 ls 14 rd)% bl 

•aM esa uhps fn, x, x|ka'k ls lacaf/r ç'u 
fn, x, gSaA lgh fodYi pqudj mÙkj i=kd 
esa vafdr dhft,A

jk"Vª ds lokZaxh.k fodkl ds fy, pkfj=k 
fuekZ.k ije vko';d gSA ftl çdkj orZeku 
esa HkkSfrd fuekZ.k dk dk;Z vusd ;kstukvksa 
ds ekè;e ls rhoz xfr ls lkFk laEiUu gks jgk 
gS] oSls gh orZeku esa lcls cM+h vko';drk 
;g gS fd ns'kokfl;ksa ds pfj=k fuekZ.k ds fy, 
ç;kl fd, tk,A mÙke pfj=koku O;fDr gh jk"Vª 
ds lokZsÙke laink gSA tura=k ds fy, tks ;g 
,d egku dY;k.kdkjh ;kstuk gSA tu&lekt 
esa jk"Vª] laLÑfr] lekt rFkk ifjokj ds çfr 
gekjk D;k drZO; gS bldk iw.kZ :i ls cks/ 
djkuk ,oa jk"Vª esa O;kIr lexz Hkz"Vkpkj ds 
çfr fu"ks/kRed okrkoj.k dk fuekZ.k djkuk gh 
pfj=k fuekZ.k dk çFke lksiku gSA

ik'pkR; f'k{kk vkSj laLÑfr ds çHkko ls 
vkt gekjs efLr"d esa Hkkjrh;rk ds çfr ghu 

Hkkouk mRiUu gks xbZ gSA ̂ pkfj=k fuekZ.k] tks fd 
ckY;koLFkk O;oLFkk ls gh ½f"kdqy] xq#dqy] 
vkpk;Zdqy dh f'k{kk ds }kjk çkphu le; ls 
fd;k tkrk Fkk] vkt dh ykMZ eSdkys dh f'k{kk 
i¼fr ls lapkfyr Ldwyksa ,oa dkWystksa ds fy, 
,d gkL;kLin fo"k; cu x;k gSA

vkt ;fn dksbZ iqjkru laLdkjh fo|kFkhZ 
laè;koknu ;k f'k•k&lw=k j•dj Hkkjrh; 
laLÑfre; esa thou fcrkrk gS] rks vU; Nk=k 
mls ̂ cq¼* ;k vçxrh'khy dgdj mldk etkd 
mM+krs gSaA vkt ge vius Hkkjrh; vkn'kks± dk 
ifjR;kx djds if'pe ds va/kuqdj.k dks çxfr 
eku cSBs gSaA bldk ?kkrd ifj.kke pfj=k nks"k ds 
:i esa vkt ns'k esa loZ=k n`f"Vxkspj gks jgk gSA

9- yksdra=k ds fy, ykHkdkjh gks ldrs 
gSa
(a) fu"Bkoku Jfed
(b) 'kfDr'kkyh flikgh
(c) mÙke pfj=koku O;fDr
(d) /uoku O;fDr 
(e) mijksDr esa ls dksbZ ugha

10- jk"Vª dh lokZsPp laink gS
(a) LokFkhZ O;fDr
(b) ykMZ eSdkys dh f'k{kk i¼fr
(c) ik'pkR; laLÑfr
(d) pfj=koku O;fDr
(e) mi;ZqDr esa ls dksbZ ugha

11- vçxfr'khy :i esa etkd mM+k;k tkrk 
gS] tks
(a) ik'pkR; laLÑfr dks ân; ls 

viukrk gS
(b) Hkkjrh; laLÑfre; thou fcrkrk gS
(c) /kfeZd okrkoj.k esa thou fcrkrk 

gS
(d) lRlax esa vf/d le; ugha fcrkrk 

gS
(e) mi;ZqDr esa ls dksbZ ugha

12- pfj=k fuekZ.k dh ije vko';drk gS
(a) lektksi;ksxh dk;ks± ds fy,
(b) ekuoek=k ds dY;k.k ds fy,
(c) jk"Vª dh ;kstukvksa ds lapkyu ds 

fy,
(d) jk"Vª ds lokZaxh.k fodkl ds fy,
(e) mi;ZqDr esa ls dksbZ ugha



BPSC izkFkfed f'k{kd ijh{kk 3.0
lkekU; v?;;u

ijh{kk frfFk – 15/03/2024 (ijh{kk fujLr)

1- Hkwdai dh rhozrk dk ekiu fdl e'khu 
}kjk fd;k tkrk gS \
(a) flLeksxzkiQ  
(b) cSjksehVj
(c) eSuksehVj  
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha 

2- ok;q esa vkWDlhtu dk çfr'kr gS 
(a) 21»  
(b) 0-04» 
(c) 0-93» 
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

3- ok;qeaMy ds fdl ijr esa gokbZ tgkt 
mM+rk gS\
(a) eè;eaMy 
(b) {kksHkeaMy 
(c) lerkieaMy  
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

4- i;kZoj.k ds fy, fdlls [krjk gS \ 
(a) iQly o`f¼  
(b) ikni o`f¼ 
(c) tul¡[;k o`f¼  
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

5- lgkjk fdl çdkj dk jsfxLrku gS\
(a) e`nq  
(b) BaMk
(c) xeZ  
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

6- ^LoPN Hkkjr fe'ku* dc çkjaHk gqvk\
(a) 2 vDVwcj] 2014 
(b) 2 vxLr] 2015
(c) 2 flrEcj] 2016 
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

7- xaxk unh ds rV ij fLFkr 'kgj gS 
(a) Hkksiky  
(b) ç;kxjkt 
(c) dksydkrk  
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

8-	 ÅtkZ	dk	xSj&ijaijkxr	lzksr	gS	
(a) Hkwrkih; ÅtkZ  
(b) ijek.kq ÅtkZ 
(c) ck;ksxSl  
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

9-	 tul¡[;k	?kV	tk,xh	;fn	
(a) tUe&nj de gks ,oa èR; nj vf/d 

gks
(b) tUe&nj ,oa e`R;q nj lkeku gksa 
(c) tUe&nj vf/d gks ,oa e`R;q nj 

de gks 
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

10-	 fuEufyf•r	 esa	 ls	 fdl	 çdkj	 ds	
çnq"k.k	ls	ihfy;k	jksx	iQSyrk	gS	\
(a) ty  
(b) ok;q 
(c) rkih;  
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

11-	 fuEufyf•r	esa	ls	Hkkjr	esa	dkSu	lk	
LFkku	tSo&fofo/rk	gkWVLikWV	gS\	
(a) vjkoyh  
(b) if'peh ?kkV
(c) uank nsoh  
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

12- ch- vks- Mh- (tSfod vkWDlhtu ekax) 
dh mPp ek=kk bafxr djrh gS fd 
(a) ikuh esa lw{ethoksa dh otg ls 

dkcZfud inkFkks± dk miHkksx T;knk 
gSA

(b) ikuh cgqr çnwf"kr gS 
(c) ikuh de çnwf"kr gS 
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

13-	 gsisVkbfVl&	A fdl çdkj dh fcekjh 
gS \
(a) ok;q& mRiUu fcekjh 
(b) Hkkstu lanw"k.k 
(c) ty&mRiUu chekjh 
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

14- ey }kjk çnwf"kr ikuh esa eNfy;ksa dh 
e`R;q gksrh gS 
(a) vkWDlhtu dh deh ls  
(b) jksxtudksa }kjk
(c) xyiQM+ksa ds can gksus ls 
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

15-	 fuEufyf•r	esa	ls	dkSu	lk	çnq"k.k–
tfur fodkj gS \
(a) U;weksdksfu;ksfll  
(b) Ýyksjksfll 
(c) dq"B jksx  
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

16-	 Hkkjr	esa	çoky&fHkfÙk;ka	ikbZ	tkrh	gSa	
(a) mÙkj çns'k esa 
(b) fgeky;h {ks=k esa 
(c) vaMeku ,oa fudksckj }hilewg esa 
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

17-	 fuEufyf•r	esa	ls	og	dkSu&lk	;U=k	
gS ftlds }kjk fo/qr ifjiFk esa cgus 
okyh /kjk dh igpku gksrh gS \
(a) vehVj  
(b) xYosuksehVj 
(c) tsujsVj  
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

18- flrkjksa ds pedus dh çdk'kh; çfØ;k 
fuEufyf•r	esa	ls	fdlds	dkj.k	gksrh	
gS \
(a) iw.kZ viorZu  
(b) okrkoj.kh; ijkorZu 
(c) okrkoj.kh; viorZu  
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

19- ikslZyhu ex esa xje pk; ihuk  
lqfo/ktud gS] LVhy ds fxykl dh 
rqyuk esa] D;ksafd 
(a) LVhy ds fxykl esa pk; rsth ls 

BaMh gks tk,xh 
(b) ikslZyhu ex esa gSaMy gksrk gS 
(c) ikslZyhu m"ek dk dqpkyd gS 
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha



BPSC ek?;fed f'k{kd ijh{kk 3.0
lkekU; v?;;u

ijh{kk frfFk – 15/03/2024 (ijh{kk fujLr)

1- ft;ksLVs'kujh mixzg vuqekur% fdl 
mapkbZ ij gksrs gSa\
(a) 15000 fd-eh-
(b) 35000 fd-eh-
(c) 981 fd-eh-
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha 

2- fdlh ifjiFk esa dkSu lk in fo/qr 
ikWoj('kfDr) dks inZf'kZr ugha djrk 
gS\
(a) IR2 (b) VI 
(c) I2R
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

3- lkcqu m|ksx dk mitkr D;k gS\
(a) uSÝFkfyu  
(b) dkfLVd lksMk 
(c) fXyljkWy
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

4- çfrnhIr VÔwc esa çk;% fdl inkFkZ dk 
mi;ksx fd;k trk gS\
(a) ejdjh ok"i rFkk vkxZu
(b) lksfM;e vkWDlkbM rFkk vkxZu
(c) lksfM;e ok"i rFkk fuvkWu
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

5-	 jDr	esa	dkSu&lk	rjy	ekè;e	gksrk	gS\
(a) fcEck.kq (IysVysV)
(b) Iykfodk(IykTek)
(c) yfldk (fyEiQ)
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

6- ikpu ds ckn çksVhu fdlesa ifjofrZr 
gksrs gSa\
(a) vfeuks ,flM (b) LVkpZ
(c) dkckZsgkbMªsV 
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

7- Dyksjhu dh jklk;fud vfHkfØ;k 
ds dkj.k tc okrkoj.k e s a 
DyjksÝyqvksjksdkcZu	 (lh-,iQ-lh-)	
fueZqDr	gksrs	gSa]	rks	fuEufyf•r	esa	ls	
D;k fou"V gksrk gS\

(a) chVk ekWfyD;wy
(b) vkstksu ekWfyD;wy
(c) He ekWfyD;wy
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

8- bdksflLVe esa] cSDVhfj;k fdl :i esa 
fØ;k'khy gksrs gSa\
(a) mRiknd  
(b) vi?kVd
(c) f}rh;d miHkksDrk 
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

9- ^ckYVksjks* fgeun vofLFkr gS
(a) ihj iatky esa  
(b) tkLdj esa
(c) dkjkdksje esa
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

10- ^dsaæh; mPpHkwfe* ds laca/ esa 
fuEufyf•r	dFkuksa	esa	ls	dkSu	lk	lgh	
gS\
(a) bldk if'peh Hkkx ekyok iBkj gS 
(b) ;g nDdu iBkj dk Hkkx gS
(c) ;g vjkoyh ls f?kjk gS
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

11-	 fuEufyf•r	esa	ls	dkSu	lh	mFkyh	>hy	
gS\
(a) •kjh >hy  
(b) lqiks"k.k >hy 
(c) vYiiks"kh >hy
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

12-	 fuEufyf•r	 esals	 dkSu	 lk	 thokse	
(ck;kse) ^pkSisjsy* ds :i esa tkuk 
tkrk gS\
(a) m".kdfVca/h; lokuk
(b) VSxk
(c) Hkweè;lkxjh; >kM+h ou
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

13-	 lwph&I dks	lwph&II ls lqesfyr dhft;s 
vkSj	uhps	fn,	x,	dwV	ls	lgh	mÙkj	
pqfu, %

lwph&I lwph&II
(a) iQkWu 1- nSfud gok 
(b) fpuwd 2- BaMh LFkkuh; gok 
(c) feLVªy 3- ciQZ •kus okyh  

  gok 
(d) ?kkVh gok 4- xeZ LFkkuh; gok 
(a) a&4] b&3] c&2] d&1 
(b) a&2] b&1] c&4] d&3 
(c) a&1] b&2] c&3] d&4
(d) mi;ZqDr esa ls ,d ls vf/d 
(e) mi;ZqDr esa ls dksbZ ugha

14-	 ^ViQ*	fdlls	lacaf/r	gS\
(a) cgrs ty ls ifjogu
(b) Tokykeq•h jk•
(c) volknh ijr
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

15- vauf/oklh cfLr;ka fdl uke ls tkuh 
tkrh gS\
(a) vukSipkfjd cLrh
(b) vxyh dM+h Hkwfe
(c) eM+bZ uxj
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

16-	 e#fn~Hkn	fuEufyf•r	es	ls	fdl	ou	
esa ik, tkrs gSa\
(a) e#LFkyh; ou 
(b) ioZrh; ou 
(c) vkæZ i.kZikrh ou
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

17- 1857 ds foæksg ds eè;] ukuk lkgsc 
us vius vki dks eqxy lezkV dk D;k 
?kksf"kr	fd;k\
(a) ukbc(mi) (b) is'kok
(c) othj 
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

18-	 fdlus@fdUgksaus	 xyrh	 ls	 ysfÝVusaV	
,;LVZ dh gR;k dj nh\
(a) nkeksnj ,oa ckyÑ".k
(b) enuyky <haxjk
(c) •qnhjke cksl ,oa çiQqYy pkdh
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha



BPSC izkFkfed f'k{kd ijh{kk 1.0
LANGUAGE/ Hkk"kk (iz'u i=k & 1)

ijh{kk frfFk – 25/08/2023 

PART – I
(English Language)

Directions (Q. Nos. 1 to 5) : Fill in 
the blanks with a/an/the.
1. The doctors and nurses are 

attending to ______ injured 
people.
(a) a (b) an
(c) the 
(d) More than one of the above
(e) None of the above

2. ______ engineers of ISRO have 
done a tremendous task.
(a) a (b) an
(c) the
(d) More than one of the above
(e) None of the above

3. The child is crying. Please buy 
______ ice cream for him.
(a) a  (b) an
(c) the 
(d) More than one of the above
(e) None of the above

4. He told us that he would be 
back in _____ hour.
(a) a (b) an
(c) the
(d) More than one of the above
(e) None of the above

5. _____ Indians are very good in 
Maths.
(a) A (b) An
(c) The
(d) More than one of the above
(e) None of the above

Directions (Q. Nos. 6 to 10) : 
Choose the correct alternative for 
each of the following.
6. Which of the following is not a 

planet?
(a) Mercury (b) Pluto
(c) Moon
(d) More than one of the above
(e) None of the above

7. Which of the following is not 
found in a kitchen?
(a) Commode

(b) Stove
(c) Utensil
(d) More than one of the above
(e) None of the above

8. Which of the following is not 
found in an electric shop?
(a) Tube light (b) Tube
(c) Motor
(d) More than one of the above
(e) None of the above 

9. Which among the following is 
not a vegetable?
(a) Tomato
(b) Dragon fruit
(c) Strawberry
(d) More than one of the above
(e) None of the above

10. Which one is not found in an 
office?
(a) Watercooler
(b) Chairs and tables
(c) Files and computers
(d) More than one of the above
(e) None of the above

Directions (Q. Nos. 11 to 15) : 
Complete the sentences given below 
using the correct alternatives.
11. Spring comes after

(a) Summer (b) Rain
(c) Winter
(d) More than one of the above
(e) None of the above

12.	 If	Monday	is	the	first	day	of	the	
week, which is the fourth day?
(a) Wednesday
(b) Tuesday
(c) Thursday
(d) More than one of the above
(e) None of the above

13. If today is Sunday, then the day 
before yesterday was
(a) Saturday (b) Monday
(c) Friday
(d) More than one of the above
(e) None of the above

14. July comes before the month of
(a) May (b) June
(c) August

(d) More than one of the above
(e) None of the above

15. Look at the _____ in the sky.
(a) rocks (b) rose
(c) birds
(d) More than one of the above
(e) None of the above

Directions (Q. Nos. 16 to 20) : 
Choose the correct alternative for 
each of the following.
16. Brother’s wife is

(a) sister
(b) sister-in-law
(c) brother
(d) More than one of the above
(e) None of the above

17. Uncle’s daughter is
(a) sibling (b) niece
(c) cousin
(d) More than one of the above
(e) None of the above

18. Wife’s sister is
(a) sister-in-law
(b) brother-in-law
(c) mother-in-law
(d) More than one of the above
(e) None of the above

19. Sister’s son is 
(a) nephew (b) niece
(c) cousin
(d) More than one of the above
(e) None of the above

20. Sister’s husband is
(a) brother-in-law
(b) sister-in-law
(c) cousin
(d) More than one of the above
(e) None of the above

Directions (Q. Nos. 21 to 25) : 
Read the passage given below and 
choose the correct alternative for 
each of the following. 

There was a dog and he was 
very hungry. He searched for food 
everywhere and at last he found a 
bone. He started going home after 
picking the bone with his mouth. 
There was a bridge on the way to his 
home. When he started crossing it, he 



BPSC izkFkfed f'k{kd ijh{kk 2.0
LANGUAGE/ Hkk"kk (iz'u i=k & 1)

ijh{kk frfFk – 14/12/2023 

PART – I
(Language)

Directions (Q. Nos. E-1 and 
E-2) : Fill in the blanks with suitable 
articles like ‘a’, ‘an’ and ‘the’ :
1. I have so many _____ good 

friends.
(a) a (b) an
(c) the
(d) More than one of the above
(e) None of the above

2. I want to build _____ very big 
house.
(a) a (b) an
(c) the
(d) More than one of the above
(e) None of the above

3. Which of the following is not a 
part of a garden?
(a) Flowers
(b) Grass
(c) Wardrobe
(d) More than one of the above
(e) None of the above

4. Which of the following is a part 
of railway station?
(a) Platform
(b) Overbridge
(c) Arrival-Departure
(d) More than one of the above
(e) None of the above

5. The sixth letter in the alphabet 
after J will be
(a) G
(b) P
(c) O
(d) More than one of the above
(e) None of the above

6. In a zoo, _____ live in cages.
(a) birds (b) animals
(c) snakes
(d) More than one of the above
(e) None of the above

7. Daughter’s daughter is
(a) sibling (b) niece
(c) cousin
(d) More than one of the above
(e) None of the above

8. My siblings are my
(a) cousins
(b) brothers and sisters
(c) in-laws
(d) More than one of the above
(e) None of the above

PART – II
(Hindi Language)

9- ^leqTToy* 'kCn esa fdl milxZ dk 
ç;ksx gqvk gS\
(a) le (b) lUk~
(c) lEk~
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

10-	 fuEufyf•r	esa	ls	dkSu&lk	'kCn	^v*	
milxZ&;qDr	gS\
(a) vFkkg (b) vui<+
(c) vfu"V
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

11-	 fuEufyf•r	esa	ls	dkSu&lk	'kCn	^vk*	
çR;;&;qDr	gS\
(a) /kfeZd (b) vlyh
(c) I;kjk
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

12- ^ftlesa nksuksa in ç/ku gksrs gSa* og 
dkSu&lk	lekl	gS\
(a) vO;;hHkko (b) }a}
(c) cgqozhfg
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

13-	 ^tUeka/*	'kCn	esa	dkSu&lk	lekl	gS\
(a) rRiq#"k (b) deZ/kj;
(c) f}xq
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

14- Loj laf/ ds fdrus eq[; çdkj gSa\
(a) pkj (b) ik¡p
(c) N%
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

15-	 ^vrho*	dk	laf/&foPNsn	gksxk
(a) vfr $ bo

(b) v $ rho
(c) vrh $ o
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

16-	 ^çR;qÙkj*	'kCn	esa	dkSu&lh	laf/	gS\
(a) o`f¼ laf/
(b) v;kfn laf/
(c) ;.k laf/
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

17-	 ^euksjatu*	'kCn	dk	laf/&foPNsn	gksxk
(a) eu% $ jatu
(b) euks $ jatu
(c) eu $ jatu
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

18- fojke fpÉ ^_* dks D;k dgrs gSa\
(a) vYi&fojke (b) v/Z&fojke
(c) ;kstd&fpÉ
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

19-	 fgUnh	'kCndks'k	esa]	fuEufyf•r	esa	ls	
dkSu&lk	'kCn	lcls	igys	vkrk	gS\
(a) f'k"Vkpkj (b) 'yk?kk
(c) Js;
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

20- ^O;kl* 'kCn dk foykse gS
(a) lekl (b) leFkZu
(c) çko/ku
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

21- fgUnh esa çpfyr fons'kh Hkk"kk vkSj 
mlds	'kCn	dk	dkSu&lk	;qXe	lgh	ugha	
gS\
(a) vjch&vnc
(b) rqdhZ& ve:n
(c) iQkjlh&vktknh
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha

22- ^exgh* fdl miHkk"kk dh cksyh gS\
(a) fcgkjh (b) iwohZ fgUnh
(c) igkM+h
(d) mi;ZqDr esa ls ,d ls vf/d
(e) mi;ZqDr esa ls dksbZ ugha



fcgkj f'k{kd HkrhZ ijh{kk
lkekU; v/;;u iz'uksa dk O;k[;kRed gy 

ijh{kk frfFk% 18 fnlacj] 2023 (d{kk&6-8)

BPSC }kjk vk;ksftr

1- mHk;pj lkal ysus ds fy, fdldks mi;ksx esa ykrs gSa\
(a) iQsiQM+s  (b) Ropk 
(c) fxy  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

2-	 ,d	fgekuh	dk	vk/kj	fi?kyrk	gS	ij	mldk	'kh"kZ	ugha]	D;ksafd
(a) fgekuh dk vk/kj vius xeZ okrkoj.k esa jgrk gS 
(b) fgekuh ds vk/kj ij ciQZ esa v'kqf¼;ka mifLFkr gksrh gS
(c) vk/kj ij nkc vf/d gksus ls xyukad esa deh gksrh gS 
(d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

3-	 iq"i	 dk	 og	 fgLlk]	 tks	 okLro	 esa	 iQy	 cukrk	 gS]	 D;k 
dgykrk gS\
(a) dkiZsy  (b) dksjksyk 
(c) LVSesu  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

4-	 ykj	dk	çeq•	dk;Z	D;k	gS\
(a) çksVhu dk vehuks vEy esa :ikarj.k 
(b) LVkpZ dk ekYVkst esa :ikarj.k 
(c) olk dk foVkfeu esa :ikarj.k 
(d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

5-	 ân;	dsoy	v'kq¼	jÙkQ	dk	gh	iEi	djrk	gS&
(a) 'kkdZ ds ekeys esa  (b) Ogsy ds ekeys esa 
(c) fNidyh ds ekeys esa  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

6- ;fn J twy gS] C dwykWEc gS]A ,fEi;j gS] rks foHkokUrj dh 
SI bdkbZ D;k gksxh\
(a) JC-1  (b) oksYV 
(c) JA-1 s-1  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

7-	 fuEufyf•r	esa	ls dkSu lk tSo fuEuhdj.kh; inkFkZ ugha gS\
(a) ydM+h  (b) #bZ 
(c) ,Y;qfefu;e iUuh  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

8-	 ekuo	vka•	esa	fdlh	oLrq	dk	çfrfcEc	dgka	ij	curk	gS\
(a) jsfVuk  (b) iqryh 
(c) ifjrkfjdk  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

9- fdl fopkj/kjk dk jk"Vªh; vkanksyu ls dksbZ laca/ ugha gS\
(a) xka/hoknh  (b) mnkjoknh 
(c) lkE;oknh  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

10- ;ax bf.M;k if=kdk dk lEiknu fdlus fd;k\
(a) Jherh ,uh cslsaV  (b) egkRek xka/h 
(c) eksrhyky usg#  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

11- Hkkjr esa nwljk iuMqCch laxzgky; dgka cuk;k x;k gS\
(a) nh?kk] if'pe caxky  (b) gkoM+k] if'pe caxky 
(c) lqanjou] if'pe caxky  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

12-	 iukek	ugj	fuEufyf•r	esa	ls	fdldks	tksM+rh	gS\
(a) vVykafVd egklkxj ,oa ç'kkar egklkxj 
(b) ç'kkar egklkxj ,oa fgUn egklkxj 
(c) vVykafVd egklkxj ,oa ihyk lkxj 
(d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

13- xaxk unh ds nf{k.kh fdukjs ls feyus okyh lcls cM+h lgk;d 
unh dkSu lh gS\
(a) dkslh  (b) xaMd 
(c) lksu  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

14-	 feêðh	dk	fuekZ.k	fdl	çfØ;k	}kjk	gksrk	gS\
(a) vukPNknu  (b) mUu;u 
(c) vi{k;  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

15-	 nkeksnj	?kkVh	ifj;kstuk	fdl	jkT;	esa	fLFkr	gS\
(a) fcgkj  (b) >kj•.M vkSj if'pe caxky 
(c) vksfMlk  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

16-	 ?kkl	ds	eSnku]	>kM+&	>axkM+]	ou]	catj	Hkwfe ljdkj vkSj 
futh nksuksa	O;fÙkQ	rFkk	leqnk;	lHkh	ls	lEcaf/r	gS]	mUgsa	D;k	
dgk tkrk gS\
(a) lqjf{kr ou  (b) lajf{kr ou 
(c) voxhZÑr ou  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

17- eksukstkbZV jsr	esa	fuEufyf•r	esa	ls	dkSu	lk	•fut	ik;k	tkrk	gS\
(a) •fut rsy  (b) ;wjsfu;e 
(c) Fkksfj;e  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

18- pUæek ds nf{k.kh èkzqo ij lqjf{kr ySafMax dk dk;Z fdl frfFk 
dks iw.kZ gqvk\
(a) 23 vxLr] 2023  (b) 18 vxLr] 2023 
(c) 15 vxLr] 1947  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha



1-	 /krq	ds	fu"d"kZ.k	esa	fuEufyf•r	esa	ls	fdldk	mi;ksx	fd;k	
tkrk gS\
(a) dksd  (b) isVªksfy;e 
(c) dksy Vkj  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

2- fçTe ls xqtjus ij lcls vf/d viofrZr gksus okyk jaxhu 
çdk'k gS\
(a) ihyk  (b) cSaxuh 
(c) uhyk  (d) mi;ZqÙkQ esa ls ,d ls vf/d
(e) mi;ZqÙkQ esa ls dksbZ ugha

3- fdlh pkyd dk çfrjks/ lekuqikrh gksrk gS 
(a) mlds vuqçLFk&dkV {ks=k ds (b) mlds ?kuRo ds
(c) mldh yEckbZ ds (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

4- ekfpl dh fMCch esa jxM+us okyh lrg ij ekStwnk eq[; 
jklk;fud	?kVd	D;k	gS\
(a) iksVSf'k;e DyksjsV  (b) iQkLiQksjl 
(c) xzsiQkbV  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

5-	fuEufyf•r	esa	ls	dkSu	lk	,Ydksgy	is;	ds	fy,	mi;qÙkQ	gS\
(a) esFkukWy  (b) gsDlsukWy 
(c) ,FksukWy  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

6-	 fdlh	bZa/u	dh	n{krk	----------ds	lanHkZ	esa	O;ÙkQ	dh	tkrh	gS\
(a) mlds ?kuRo  (b) mlds dSyksjh eku 
(c) mldh ek=kk  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

7- •kus	ds	MCcs	ij	tLrk	ds	ctk;	fVu	dh	ijr	p<+h	gksrh	gS]	D;ksafd 
(a) tLrk] fVu dh rqyuk esa eagxk gS
(b) fVu dh rqyuk esa tLrk dk xyukad vf/d gksrk gS
(c) fVu dh rqyuk esa tLrk vf/d çfrfØ;k'khy gS
(d) mi;ZqÙkQ esa ls ,d ls vf/d
(e) mi;ZqÙkQ esa ls dksbZ ugha

8-	 fuEufyf•r	esa	ls	dkSu	lh	ikjaifjd	flapkbZ	i¼fr	ugha	gS\
(a) •and ç.kkyh  (b) psu iai ç.kkyh 
(c) fMªi ç.kkyh  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

9- ekuo xqnZs dh dksf'kdk esa fyax xq.klw=kksa dh la[;k gksrh gS\
(a) ,d tksM+k  (b) nks tksM+k 
(c) rhu tksM+s  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

10- ekuo dku dk Jo.k ijkl D;k gS\
(a) 20 gV~tZ ls 20000 gV~tZ (b) 20 gV~tZ ls de
(c) 20000 gV~tZ ls vf/d (d) mi;ZqÙkQ esa ls ,d ls vf/d
(e) mi;ZqÙkQ esa ls dksbZ ugha

11-	 fuEufyf•r	esa	fdlesa	mPpre	ÅtkZ	gksrh	gS\
(a) uhyk çdk'k  (b) yky çdk'k 
(c) ihyk çdk'k  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

12- isafly ysM cukus ds fy, fdl inkFkZ dk mi;ksx fd;k 
tkrk gS\
(a) lYiQj  (b) flfydkWu 
(c) xzsiQkbV  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

13- çdk'k dh ,d fdj.k niZ.k ij 30° ds dks.k ij vkifrr 
gksrh gSA vfHkyEc vkSj ijkofrZr fdj.k ds chp dk dks.k 
gksrk gSA
(a) 30° (b) 60°
(c) 45° (d) mi;ZqÙkQ esa ls ,d ls vf/d
(e) mi;ZqÙkQ esa ls dksbZ ugha

14- vkgkj uyh dh nhokjksa ds ladqpu vkSj foLrkj dh xfr 
dgykrh gS\
(a) LFkkukUrj.k  (b) ok"iksRltZu 
(c) Øekdqapu  (d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

15-	 ef"r"d	ds	dkSu	ls	Hkkx	jÙkQpki	dks	fu;af=kr	djrs	gSa\
(a) jh<+ dh gîóh] •ksiM+h] gkbiksFkSysel
(b) dkWMZ] •ksiM+h] lsjscze 
(c) iksal] esMqyk] lsfjcsye 
(d) mi;ZqÙkQ esa ls ,d ls vf/d 
(e) mi;ZqÙkQ esa ls dksbZ ugha

16-	 fuEufyf•r	esa	ls	dkSu	lk	lcls	de	?k"kZ.k	mRiUu	djrk	gS\
(a) fiQlyu ?k"kZ.k (b) jksfyax ?k"kZ.k
(c) LFkSfrd ?k"kZ.k (d) mi;ZqÙkQ esa ls ,d ls vf/d
(e) mi;ZqÙkQ esa ls dksbZ ugha

17- eè;kÉ Hkkstu ;kstuk dk u;k uke D;k gS\
(a) ih-,e-iks"k.k ;kstuk (b) ih- ,e- eè;kÉ iks"k.k ;kstuk
(c) us'kuy iks"k.k ;kstuk (d) mi;ZqÙkQ esa ls ,d ls vf/d
(e) mi;ZqÙkQ esa ls dksbZ ugha

18- dyLVj&vk/kfjr	xkaoksa	ds	fodkl	dh	;kstuk	dk	uke	D;k	gS\
(a) nhun;ky mikè;k; #cZu fe'ku 
(b) MkW- ';kek çlkn eq•thZ #cZu fe'ku 

fcgkj f'k{kd HkrhZ ijh{kk
lkekU; v/;;u iz'uksa dk O;k[;kRed gy 

ijh{kk frfFk% 14 fnlacj] 2023 (d{kk&9-10)

BPSC }kjk vk;ksftr



fcgkj f'k{kd HkrhZ ijh{kk
lkekU; v/;;u iz'uksa dk O;k[;kRed gy 

ijh{kk frfFk% 24 vxLr] 2023 (f}rh; ikyh)

BPSC }kjk vk;ksftr

1- Hkw&fLFkj	mixzg	?kwerk	gS
(a) /zqoksa ds Åij fdlh Hkh ÅapkbZ ij
(b) fLFkj ÅapkbZ ij
(c) ml ÅapkbZ ij] tks nzO;eku ij fuHkZj gks
(d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

2- fizTe	}kjk	liQsn	izdk'k	ds	ifj{ksi.k	esa	dkSu&lk	jax	vf/
dre fopfyr gksrk gS\
(a) gjk (b) yky
(c) cSaxuh (d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

3- es?kxtZuk	ds	le;	fuEufyf[kr	esa	ls	D;k	lqjf{kr	gS\
(a) [kqyh Nrjh ysdj pyuk
(b) NksVs isM+ ds uhps vkJ; ysuk
(c) [kqyh txg esa [kM+s jguk
(d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

4- Lora=k :i ls i`Foh dh vksj fxjrs gq, fudk; dh  
dqy	ÅtkZ
(a) ?kVrh gS (b) c<+rh gS
(c) fLFkj jgrh gS (d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

5- us=k nku esa nkrk dh vka[k ds fdl fgLls dks izfrjksfir fd;k 
tkrk gS\
(a) ysUl (b) dkW£u;k
(c) iwjh vka[k (d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

6- foVkfeu B12 dk jklk;fud uke D;k gS\
(a) Fkk;feu (b) dksckykfeu
(c) fu;kflu (d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

7- fuEufyf[kr	esa	ls	dkSu&lk	vEy&{kkj	dk	ladsrd	gS\
(a) fljdk (b) gYnh
(c) [kkus okyk lksMk (d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

8- tc ènk vfr{kkfj;rk gks rFkk mlesa ikS/s iSnk ugha gksrs gksa] 
rc	ènk	dh	xq.koÙkk	esa	lq/kj	ds	fy,	D;k	feykuk	pkfg,\
(a) dkcZfud inkFkZ (b) fcuk cq>k pwuk
(c) dSykekbu dk ?kksy (d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

9- iQkjsugkbV	iSekus	ij	ije	'kwU;	dk	eku	fdruk	gksrk	gS\
(a) 0 °F (b) -22 °F
(c) -459.4 °F (d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

10- izdk'k rjaxsa fdl izdkj dh rjaxsa gksrh gSa\
(a) vuqizLFk rjaxssa (b) vuqnSè;Z rjaxsa
(c) fo|qr&pqEcdh; rjaxsa (d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

11- izcy vEy vkSj nqcZy {kkjd ls cus yo.k dk pH eku D;k 
gS\
(a) 7 ls vf/d (b) 7 ls de
(c) 10 vkSj 14 ds chp (d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

12- ,d xhxkckbV (GB) cjkcj gksrk gS
(a) 1024 KB (b) 1024 MB
(c) 1024 GB (d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

13- lksfM;e gkbMªkWDlkbM vkSj gkbMªksDyksfjd vEy dh vfHkfØ;k 
ls	 lksfM;e	 DyksjkbM	 vkSj	 ty	 curs	 gSaA	 ;g	 dkSu&lh	
vfHkfØ;k gS\
(a) mnklhuhdj.k (b) fo?kVu
(c) la;kstu (d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

14- ÅtkZ	mRiknu	ds	fy,	dksf'kdk	izk;%	fdldk	mi;ksx	djrh	gS\
(a) vehuks vEy (b) Xywdkst
(c) olk vEy (d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

15- ih;w"k xzafFk dk dk;Z D;k gS\
(a) iq#"kksa esa ;kSu vaxksa dks fodflr djuk
(b) lHkh vaxksa esa o`f¼ dks izksRlkfgr djuk
(c) 'kjhj esa phuh vkSj ued ds Lrj dks fu;af=kr djuk
(d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha

16- efLr"d	ds	dkSu&ls	Hkkx	jDrpki	dks	fu;af=kr	djrs	gSa\
(a) jh<+ dh gM~Mh] [kksiM+h] gkbiksFkSysel
(b) jh<+ dh gM~Mh] [kksiM+h] lsjscze
(c) iksal] esMqyk] lsfjcsye
(d) mi;qZDr esa ls ,d ls vf/d
(e) mi;qZDr esa ls dksbZ ugha



izSfDVl VsLV isij &1
PART – I

(LANGUAGE)

Directions (1-4) : Read the passage 
given below and choose the correct 
option to answer each of the quetion 
that follow —

Lemon is also used in cosmetic 
treatment. When applied on hair, 
it works as a natural hair lightener. 
Applying lemon juice to the face 
bleaches it and it is also used in 
facial marks for refreshing the skin. 
We care squeeze the juice of a lemon 
directly into bathwater to act as are 
extra cleaning agent and purifier 
of skin. Lemon juice is also used as 
a laxative to cure constipation by 
grandmother and elderly people. 
Lemon is also used as a garnish to 
make food look attractive and even 
as a cooking ingredient. Lemon 
produces cleaning agents for Kitchen 
utensils to remove grease and black 
stains. 
1. What care lemon do for the 

skin?
(a) It makes the skin glow
(b) It makes the skin look fresh 
(c) It makes the skin light
(d) None of the above
(e) Non of the above

2.  Why the lemon juice added to 
bathwater?
(a) As a clearing agent
(b) To cool the water
(c) To give it fragrance
(d) None of the above
(e) Non of the above

3. What do grandmother use 
lemon for?
(a) To make lemonade
(b) As a natural hair lightener
(c) To cure constipation
(d) None of the above
(e) Non of the above

4.  How is lemon used in the 
kitchen?
(a) As a clearing agent 
(b) To garnish the food
(c) To add taste to the food

(d) All of the above 
(e) Non of the above

Directions (5-8) : Fill in the blanks 
in the following with the help of 
options that follow—
5. I found ....... one-rupee note.

(a) a (b) an
(c) the (d) no article
(e) Non of the above

6.  I have a liking ....... mangoes.
(a) to (b) in
(c) for (d) at
(e) Non of the above

7. She is answerable .............. the 
principal.
(a) for (b) to
(c) in (d) at
(e) Non of the above

8. You were correct ............... your 
judgement
(a) in (b) with
(c) for (d) on
(e) Non of the above

funsZ'k % x|ka'k dks i<+dj fuEufyf[kr 
iz'uksa (iz-la- 9 ls 14) esa lcls mfpr fodYi 
pqfu,A

fdlh jktk ds ikl vathj ds isM+ksa dk 
,d cxhpk FkkA mls iQy brus vPNs yxrs Fks 
fd mlus fu.kZ; fd;k fd isM+ksa dh pkSdhnkjh 
djk;h tk,A mlus ,d yaxM+s vkSj ,d dks 
pkSdhnkj fu;qDr dj fn;kA

nwljs fnu jktk us ns[kk fd isM+ksa ds ids 
iQy xk;c gSaA mlus pkSdhnkjksa ls iwNk fd 
^pksjh fdlus dh gS\*

mUgksaus tokc fn;k] ^gesa ugha ekyweA*

;|fi nksuksa pkSdhnkjksa us dgk Fkk fd 
^mUgksaus iQy ugha fy, gSa] fiQj Hkh jktk us 
'kh?kz gh irk yxk fy;k fd va/k vius da/s 
ij yaxM+s dks ys x;k FkkA* us vius iSjksa dk 
bLrseky fd;k Fkk vkSj yaxM+s us viuh vka[kksa o 
gkFkksa dk vkSj bl rjg ls vathjksa dh pksjh dh 
xbZ FkhA nksuksa vknfe;ksa dks dM+h ltk nh xbZA

9- jktk us isM+ksa dh pkSdhnkjh djkus dh 
lksph] D;ksafd& 
(a) dksbZ pksj vathj pqjk jgk FkkA

(b) mls [ksn Fkk vkSj og va/ks rFkk yaxM+s 
dks dksbZ ukSdjh fnykuk pkgrk FkkA

(c) iQy cM+k dherh FkkA
(d) mls Mj Fkk fd dksbZ iQyksa dh pksjh 

dj ysxk
(e) mi;qZDr esa ls dksbZ ugha

10. tc jktk us ns[kk fd isM+ksa ij ls ids 
iQy xk;c gSa] rks& 
(a) mlus iwNk fd ^pksjh fdlus dh gS*
(b) mlus iQy okys isM+ksa dh j[kokyh 

Lo;a dh
(c) mlus nks vknfe;ksa dks mudh 

pkSdhnkjh ds fy, dgk
(d) mlus nksuksa dks ltk nh
(e) mi;qZDr esa ls dksbZ ugha

11- va/s vkSj yaxM+s us >wB cksyk] D;ksafd& 
(a) os vPNs pkSdhnkj FksA
(b) mUgksaus lkspk fd jktk dks pksjh dk 

irk u pysxk
(c) mUgksaus lkspk fd jktk ;g dHkh ugha 

tku ik;sxk fd mUgksaus fdl izdkj 
vathj pqjk;s gSaA

(d) os jktk ls Mjrs Fks
(e) mi;qZDr esa ls dksbZ ugha

12- vathjksa dh pksjh dh xbZ& 
(a) mudh dher ds dkj.k
(b) pksjksa }kjk
(c) jktk ds vknfe;ksa }kjk
(d) mu yksxksa }kjk tks mudh pkSdhnkjh 

djrs Fks
(e) mi;qZDr esa ls dksbZ ugha

13- jktk us irk yxk fy;k fd& 
(a) va/ks us vius iSjksa dk bLrseky fd;k 

gS
(b) yaxM+s us viuh vka[kksa dk bLrseky 

fd;k gS
(c) nksuksa pkSdhnkjksa us vathj pqjk;s gSa
(d) pkSdhnkjksa us lp mxy fn;k
(e) mi;qZDr esa ls dksbZ ugha

14- 'kCn D;k gS& 
(a) /ofu dh y?kqÙke bdkbZ
(b) ,d ;k ,d ls vf/d lkFkZd o.kZ 

lewg
(c) ,d ;k ,d ls vf/d o.kZ lewg



izSfDVl VsLV isij &2
PART – I

(LANGUAGE)
Directions (1-5) : Read the passage 
given below and answer the question 
that follow. Choose the right answer 
from the given alternatives.

Newspaper reading has become 
a necessity in the modern times. 
Newspaper brings us news from 
every corner of the world. A 
newspaper caters to the need of 
various sections of the society. A 
politicians finds the views and 
reviews of others on the policy 
adopted by the Government or a 
political party. A businessman can 
find the friends of the market. A job 
seeker can find a suitable job through 
its columns. The matrimonial 
columns serve everybody. The 
movie and sports fans get the latest 
information from the newspapers. 
Newspapers also give weather 
forecast. In briefs daily newspaper 
contains all information that a man 
needs. It is a good watch day of the 
governments policies. The letters 
to editors bear information about 
current affairs. 
1.  Newspapers reading ac-

quaints us with ...... news.
(a) Social (b) National 
(c) Regional (d) World-wide
(e) Non of the above

2.  We can express our views on 
different issues through.

(a) e-mails 
(b) advertisements
(c) message 
(d) letters to editors
(e) Non of the above

3.  A suitable title for the above 
passage is 

(a) Newspapers
(b) Importance of Reading 

Newspapers
(c) Reading Newspapers
(d) None of these
(e) Non of the above

4. The word various means
(a) Some (b) Different

(c) Same 
(d) None of these
(e) Non of the above

5.  Newspaper is a good watch-
dog of ...... policies.

(a) Personal 
(b) Govermment
(c) Public (d) Various
(e) Non of the above

Directions (6-8) : Choose the appro-
priate conjunction from the given 
alternatives.
6. Is that story true ..... false.

(a) and (b) so
(c) but (d) or
(e) Non of the above

7. He will starve ....... will not 
steal.

(a) as (b) but
(c) because (d) while
(e) Non of the above

8.  Water ......... oil will not mix
(a) or (b) but
(c) with (d) and
(e) Non of the above
funsZ'k % x|ka'k dks i<+dj fuEufyf[kr 

iz'uksa (iz-la- 9 ls 14) esa lcls mfpr fodYi 
pqfu,A

dYiuk pkoyk tc djuky ds ^VSxksj 
cky fudsru* esa i<+rh Fkh] rks og viuh Mªkbax 
dh dkafi;ksa dks gokbZ tgkt ds js[kkfp=ksa ls 
Hkj ysrh FkhA gkbZLdwy djus ds ckn mlds 
ekrk&firk pkgrs Fks fd og MkWDVjh i<+s] fdUrq 
mlus bathfu;fjax i<+uk ilan fd;kA mlus 
foeku&foKku fo"k; pquk rkfd og gokbZ 
tgktksa ds ckjs esa vkSj i<+ ldsA rc mldh 
mez dsoy l=g lky FkhA vBkjg lky ckn 
og igyh Hkkjrh; ukjh] cfYd dgsa fd fdlh 
,f'k;kbZ ns'k dh igyh ukjh ftlus varfj{k dh 
;k=k dh A ;g ckr 19 uoacj] 1997 dh gS 
tc og varfj{k 'kVy ̂ ;ku* dksyfEc;k ds N% 
lnL;h; ny dh ,d lnL; Fkh vkSj 15 fnu 
rd varfj{k esa jgh FkhA varfj{k esa tkus ds Bhd 
igys mlus dgk Fkk ^;g Hkkjr ds fy, xoZ 
dk {k.k gSA* dYiuk djkVs esa CYkSd csYV FkhA 
dq'ky rSjkd Fkh] HkjrukV~;e dh dykdkj Fkh 

vkSj ,d dfo;=h Fkh ftlus ,d ckj djuky 
ds [kkukcnks'kksa ds fo"k; esa fy[kk FkkA 

9- dYiuk pkoyk ds ckjs esa uhps fy[kh 
ckrksa esas ls dkSu&lh ckr xyr gS \  
(a) mldk cpiu djuky esa chrk
(b) og MkWDVjh i<+uk pkgrh Fkh
(c) varfj{k esa ;k=k djus okyh og igyh 

Hkkjrh; ukjh
(d) og ,d dq'ky rSjkd Fkh 
(e) mi;ZqÙkQ esa ls dksbZ ugha

10- dYiuk pkoyk us varfj{k esas ftl 
okgu esa ;k=kk dh Fkh] mldk uke gS% 
(a) uklk (b) dksyfEc;k
(c) ftIlh (d) buesa ls dksbZ ugha 
(e) mi;ZqÙkQ esa ls dksbZ ugha

11- dYiuk ds lkFk varfj{k ;k=k esa tks 
yksx x,] mudh la[;k Fkh& 
(a) rhu (b) lkr
(c) ik¡p (d) N%
(e) mi;ZqÙkQ esa ls dksbZ ugha

12- ^;g Hkkjr ds fy, xoZ dk {k.k gSA* 
bl okD; esa ̂ ;g* ml fnu dk |ksrd 
gS tc& 
(a) dYiuk dks bathfu;fjax dkWyst esa 

izos'k feyk
(b) dYiuk dks varfj{k ;k=k ds fy, 

pquk x;k
(c) tc dYiuk l=g o"kZ dh gqbZ
(d) tc dYiuk us varfj{k dh ;k=kk dh
(e) mi;ZqÙkQ esa ls dksbZ ugha

13- ftl 'kCn dk vFkZ ̂ gokbZ tgkt mM+kus 
dk 'kkL=k gS] og gS& 
(a) bathfu;fjax
(b) ,;jksukWfVDl (foeku foKku)
(c) fpfdRlk 'kkL=k
(d) varfj{k
(e) mi;ZqÙkQ esa ls dksbZ ugha

14- fuEufyf[kr esa dkSu&lk 'kCn ladj gS\
(a) NTtk (b) eqnkZ?kj 
(c) 'k¸;k (d) nhokj
(e) mi;ZqÙkQ esa ls dksbZ ugha
funsZ'k % x|ka'k dks i<+dj fuEufyf[kr 

iz'uksa (iz-la- 15 ls 20) esa lcls mfpr 
fodYi pqfu,A



izSfDVl VsLV isij &3
PART – I

(LANGUAGE)
Directions (1-5) : Read the given 
passage carefully and answer the 
questions that follow by choosing 
the answer from the given 
alternatives.

Children should be educated 
without pressure. They should 
enter into adulthood free from the 
damaging efforts of tradition and 
fear. Free expression of thought 
should be given to the children. A 
child once asked Krishnamurthy, 
'Is it your hobby to given lectures? 
Don't you get fired of talking? Why 
are you doing it?' Krishnamurthy 
replied : ‘I am glad you asked that 
question. You know, if you love 
something, you never get tired of 
it. I mean love in which there is no 
desire of wanting something out of 
it. If you are talking because you are 
getting something out of it : money, 
reward, sense of your importance 
: then there is weariness. Then it 
has no meaning because it is only 
self- fulfillment, but if there is love 
in your heart, it is like a fountain, 
always giving fresh water.' 
1.  Children should be educated 

without.
(a) fear (b) money 
(c) pressure (d) books
(e) Non of the above

2.  What type of expression should 
be given to children? 
(a) busy (b) complex
(c) damaging (d) free
(e) Non of the above

3.  If you ______ something you 
never get tired of it.
(a) hate (b) love
(c) enjoy (d) express
(e) Non of the above

4. Weariness mean feeling ______
(a) happiness (b) anger

(c) tiredness (d) joy
(e) Non of the above

5.  Which reward will not make 
you feel ‘weariness’?
(a) money
(b) sense of importance 
(c) only reward
(d) love in your heart
(e) Non of the above

Directions (6-8) : Choosee the cor-
rect form of verbs from the given 
alternatives.
6. He _____ to seee my yesterday.

(a) come (b) coming
(c) came (d) had come
(e) Non of the above

7. The earth _____ round the sun.
(a) will more (b) moves
(c) moved (d) has moved
(e) Non of the above

8.  He _____ a novel now a days.
(a) has been writing (b) 

is writing
(c) will write (d) has written 
(e) Non of the above
funsZ'k % x|ka'k dks i<+dj fuEufyf[kr 

iz'uksa (iz-la- 9 ls 13) esa lcls mfpr fodYi 
pqfu,A

vk'p;Z dh ckr gS fd vf/kdka∴ le; 
rd ikuh esa jgus ds ckotwn cr[kksa ds ia[k 
lw[ks cus jgrs gSaA os ?kaVksa ikuh esa rSjrh jgrh 
gSa vkSj chp&chp esa Mqcdh Hkh yxkrh jgrh 
gSaA fiQj Hkh lw[kh dh lw[kh gh jgrh gSaA bldk 
jgL; D;k gS\ cr[k dh iw¡N dh tM+ esa ,d 
NksVk&lk rsy dk vax gksrk gSA cr[k bl vax 
dks nckdj rsy fudkyrh jgrh gS tks mlds 
ia[kksa ij iQSy tkrk gSA oSls rks lHkh if{k;ksa esa 
;g rsy dk vax gksrk gS] fdUrq typj if{k;ksa 
esa ;g lqfodflr gksrk gSA if{k;ksa esa ilhuk 
ykus okyk vax ugha gksrkA
9- bl x|ka'k esa crk;k x;k gS] cr[kksa 

ds&
(a) ilhus ds vaxksa ds ckjs esa
(b) rsyh; ia[kksa ds ckjs esa
(c) rsy ds vaxksa ds ckjs esa
(d) lw[ks cus jgus ds jgL; ds ckjs esa 
(e) mi;ZqÙkQ esa ls dksbZ ugha

10- cr[kksa dh ;g fo'ks"krk gS fd os&
(a) cgqr nwj rd rSj ldrh gSa
(b) cgqr rst rSj ldrh gSa
(c) cgqr tYnh&tYnh Mqcdh yxk 

ldrh gSa
(d) ikuh esa rSjrs jgus ij Hkh lw[kh cuh 

jg ldrh gSaa
(e) mi;ZqÙkQ esa ls dksbZ ugha

11- rsy dk vax cr[k&
(a) dh ihB esa gksrk gS 
(b) dh iw¡N esa gksrk gS
(c) ds ia[k esa gksrk gS 
(d) ds iSj esa gksrk gSA 
(e) mi;ZqÙkQ esa ls dksbZ ugha

12- ^bldk jgL; D;k gS\* bldk 'kCn 
;gk¡ cr[k dh fdl fØ;k dh vksj 
ladsr dj jgk gS \
(a) rSjuk 
(b) ckj&ckj Mqcdh yxkuk
(c) lw[kh cus jguk
(d) ikuh esa cgqr nsj rd jguk 
(e) mi;ZqÙkQ esa ls dksbZ ugha

13- rsy dk ;g vax&
(a) lHkh if{k;ksa esa fodflr ugha gksrk
(b) lHkh cr[kksa esa ugha cuk gksrk
(c) lHkh if{k;ksa esa ugha ik;k tkrk
(d) dsoy dqN gh cr[kksa esa lqfodflr 

gksrk gS
(e) mi;ZqÙkQ esa ls dksbZ ugha
funsZ'k % x|ka'k dks i<+dj fuEufyf[kr 

iz'uksa (iz-la- 14 ls 19) esa lcls mfpr 
fodYi pqfu,A

fdlh tekus esa ,d taxy esa ,d cM+s 
isM+ ij dkSos dk ,d tksM+k jgrk FkkA bl isM+ 
dh Nk;k esa izk;% nwljs i'kq vkjke fd;k djrs 
FksA isM+ dh [kks esa ,d lkai jgrk FkkA dkSok 
us isM+ ij viuk ?kksalyk cuk j[kk FkkA eknk 
dkSok us ?kkslys esa vaMs fn;sA dkSok us vaMksa 
dks lks;kA tYnh gh cPps fudy vk;sA ,d 
fnu vius cPpksa ds fy, nkuk ykus ds fy, os 
ckgj x;s] rHkh lkai ?kksalys esa vk;k vkSj pkjksa 
cPpksa dks pV dj x;kA nkuk ysdj tc dkSos 
okil vk;s rks mUgksaus [kks esa ?kqlrs gq, lkai 
dks ns[kkA mUgsa viuk ?kksalyk Hkh [kkyh feykA 
;g ns[k os nq%[kh gks x;sA



izSfDVl VsLV isij &4
PART – I

(LANGUAGE)

Directions (1-5) : Read the following 
passage and answer the questions 
that follow by choosing correct 
answer.

The Himalayas are beautiful 
mountains in the north of India. 
They strech for two thousand miles 
from Kashmir to Assam. Some of 
the world’s highest peaks are in 
the Himalayas. The highest peak 
is Mount Everest. The top of the 
mountain are always covered with 
snow through out the year. Therefore 
we call them Himalayas or the 
‘Abodes of snow’. 

There are many beautiful lakes 
and forests in the Himalayas. Many 
passes connect India with Tibet, 
Turkistan and Afghanistan. Many 
rivers- the Ganges, the Yamuna, 
the Brahmaputra and the Beas flow 
from these mountains. The climate 
and scenery of these mountains are 
so charming that the people have 
built many hill stations there. Many 
visitors go to the hill stations for 
pleasure and relaxation.
1.  India is connected with vari-

ous countries through-
(a) Hills (b) Transport
(c) Seas (d) Passes
(e) Non of the above

2.  Hill stations have been built 
on the mountains because —

(a) Visiting mountain top is a 
fashion.

(b) Climate and scenery is very 
charming

(c) People like to have the feel 
of snow on those mountains.

(d) They are very high and 
people from lowlands want 
to visit these hilly regions.

(e) Non of the above
3.  People visit hill stations for –

(a) It is necessary to visit hill 
stations

(b) Pleasure and relaxation
(c) For Fashion
(d) To show there affluency
(e) Non of the above

4. Himalayas is the source of 
many rivers like—

(a) Ganga and Yamuna
(b) Brahmaputra and Beas
(c) All of the above
(d) None of the above
(e) Non of the above

5. ‘Mountain Everest’ is one of 
the —

(a) Plain
(b) lowest peaks on earth
(c) Highest peaks on earth
(e) Non of the above

Directions (6-8) : Fill in the blank in 
each of the following sentences with 
the best of the alternatives given :
6.  She must be over forty _____ 

she looks charming.
(a) although (b) still
(c) while (d) that
(e) Non of the above

7. I am giving him some money 
_____ that he may buy a dic-
tonary.

(a) when (b) as
(c) so (d) such
(e) Non of the above

8. I couldn’t take a bath ____ 
there was no water.

(a) while (b) if
(c) when (d) because
(e) Non of the above

funsZ'k % x|ka'k dks i<+dj fuEufyf[kr 
iz'uksa (iz-la- 9 ls 13) esa lcls mfpr fodYi 
pqfu,A

,MoMZ [kq'k Fkk fd og áwxks vkSj mldh 
pksj pkSdM+h ls cp fudyk Fkk] ysfdu og 
cgqr Fkdk gqvk FkkA mls tksj dh Hkw[k yxh gqbZ 
FkhA pyrs&pyrs og iQkeZ gkml rd igq¡pkA 
ogk¡ mls iqvky vkSj Hkwls ds dksBkj dk njoktk 
[kqyk fn[kkbZ fn;kA og BaM ls dk¡i jgk Fkk 
vkSj dksBkj iqvky ds dkj.k xeZ Fkk] blfy, 

og Hkhrj ?kql x;kA ogk¡ dksus esa mls ,d 
dEcy fn[kkbZ fn;kA dEcy ysdj mlus mls 
vks<+ fy;k vkSj iqvky ij ysV x;kA

rHkh fdlh pht us mls NqvkA va/ksjs esa 
mls irk u yx ldk fd og D;k pht Fkh\ 
og Fkdk Fkk] blfy, rqjUr lks tkuk pkgrk 
Fkk] ysfdu rHkh fQj fldh fpduh vkSj xeZ 
pht ij mldk gkFk yxkA mlus ml pht dks 
idM+ fy;kA D;k og jLlh Fkh \ ysfdu mlesa 
ckYkksa ds xqPNs fpids gq, FksA gkFk esa jLlh 
idM+s&idM+s og cSB x;kA tYnh gh og le> 
x;k fd ;g rks dksbZ jLlh ugha gS] cfYd fdlh 
cNM+s dh iwaN gSA

9- ,MoMZ 
(a) áwxks vkSj mldh pksj pkSdM+h ds 

lkFk jguk pkgrk Fkk 
(b) áwxks vkSj mldh pksj pkSdM+h ds 

lkFk ugha jguk pkgrk Fkk
(c) áwxks ds lkFk jguk pkgrk Fkk ij 

pksj pkSdM+h ls cpuk pkgrk Fkk
(d) áwxks ds lkFk ugha jguk pkgrk Fkk 

ij pksjksa ds lkFk jguk pkgrk Fkk
(e) mi;ZqÙkQ esa ls dksbZ ugha

10- ,MoMZ dksBkj esa ?kql x;k] D;ksafd&
(a) og Hkw[kk Fkk 
(b) og lksuk pkgrk Fkk
(c) mls BaM yx jgh Fkh
(d) mls jLlh dh t:jr Fkh
(e) mi;ZqÙkQ esa ls dksbZ ugha

11- dksBkj esa&
(a) dksbZ tkuoj ugha Fkk 
(b) dksbZ njoktk u Fkk
(c) dksbZ dEcy u Fkk
(d) dksbZ jLlh u Fkh
(e) mi;ZqÙkQ esa ls dksbZ ugha 

12- ,MoMZ ds gkFk esa Fkh&
(a) ,d jLlh (b) ,d iw¡N
(c) ,d lk¡i 
(d) dksbZ vkSj pht
(e) mi;ZqÙkQ esa ls dksbZ ugha 

13- ,MoMZ dks ekywe u Fkk fd mlds gkFk 
esas D;k pht gS] D;ksafd&
(a) dksBkj esa va/ksjk Fkk
(b) mls uhan vk jgh Fkh

Water 
2. Acid Blue Colour
3. Rheogel 
(Thickener+Bleaching)
4. Novoamine (Thick-
ener)
5. HCL Acid 33%
6. Perfume Acid Stable



izSfDVl VsLV isij &5
PART – I

(LANGUAGE)

Directions (1-5) : Read the following 
passage carefully and answer the 
questions that follow by choosing 
the right alternatives given at the 
end of every questions.

Once there was a farmer. He had 
four sons. They always quarreled 
with one another. So the farmer was 
very sad. One day he fell ill. His 
end was near. He called his sons. 
He gave them a bundle of sticks. 
He asked them to break it. None 
could do so. He untied the bundle. 
He gave them one stick each. Each 
son broke his stick easily. At this the 
farmer said, 'If you live like bundle, 
no body will harm you.' And he 
died. The sons learnt the lesson. 
They never quarreled again.
1.  How many sons did the farmer 

have?
(a) one (b) two
(c) three (d) four
(e) Non of the above

2.  Why was the farmer sad?
(a) because he had no money
(b) because he had no sons
(c) because his sons always 

quarreled 
(d) None of these
(e) Non of the above

3.  What did the farmer do?
(a) asked them not be quarrel
(b) asked them to break the 

bundle of sticks
(c) decided to call them
(d) none of these
(e) Non of the above

4. What did he do then?
(a) he untied the bundle
(b) he gave all the money to the 

poor
(c) he asked them to go from 

have
(d) none of these
(e) Non of the above

5.  Give the opposite of sad.
(a) feeling good (b) unsad
(c) not happy (d) happy
(e) Non of the above

Directions (6-8) : From the given al-
ternatives select the most appropriate 
one to fill in the blanks in each of the 
following sentence.

6. Delhi is _____ to Jaipur than 
Mumbai.
(a) near (b) nearer
(c) nearest (d) more near
(e) Non of the above

7. The king was a man of ______ 
wisdom.
(a) great (b) greater
(c) more great (d) greatest
(e) Non of the above

8.  _____ boys have taken biology 
than mathematics
(a) much (b) many
(c) more (d) most
(e) Non of the above

funsZ'k % x|ka'k dks i<+dj fuEufyf[kr 
iz'uksa (iz-la- 9 ls 13) esa lcls mfpr fodYi 
pqfu,A

;q¼ ds ckn gekjs ppZ dh gkyr cM+h 
[kjkc Fkh] blfy, geus dLcs ds ikl dh 
igkM+h ij ,d u;k ppZ cukus dk iQSlyk fd;kA 
blds fy, geus fofo/ izdkj dh lkexzh dk 
bLrseky fd;kA nhokjsa geus iRFkjksa dh cuk;h 
vkSj muesa dk¡p e<+ fn;sA cM+s njokts ydM+h 
vkSj /krq ls cuk;s x;sA ppZ dh Nr ls lkjs 
dLcs dk cM+k euksje n`'; nh[krk gSA rqe ogk¡ 
ls ehyksa rd iQSys dLcs vkSj xzkeh.k bykds 
dks ns[k ldrs gkssA ns'k ds lHkh Hkkxksa ds yksx 
ppZ ds n'kZu ds fy, jkst ogk¡ vkrs gSaA ;g 
,d vuks[kh bekjr gSA

9- mUgksaus u;k ppZ cuk;k] D;ksafd iqjkuk 
ppZ&
(a) ;q¼ esa /oLr gks x;k Fkk
(b) vPNk ugha Fkk
(c) cgqr NksVk Fkk 
(d) cM+h [kjkc gky esa Fkk
(e) mi;ZqÙkQ esa ls dksbZ ugha

10- u;s ppZ dh nhokjsa cuh Fkha&
(a) ydM+h vkSj dk¡p dh
(b) ydM+h vkSj /krq dh
(c) iRFkj vkSj dk¡p dh
(d) /krq vkSj iRFkj dh 
(e) mi;ZqÙkQ esa ls dksbZ ugha

11- u;k ppZ dgk¡ cuk;k x;k Fkk \
(a) dLcs esa
(b) dLcs ls cgqr nwj
(c) dLcs ds cgqr ikl
(d) dLcs ls T;knk ikl ugha 
(e) mi;ZqÙkQ esa ls dksbZ ugha

12- ppZ dh Nr ls dLcs dk cM+k euksje 
n`'; fn[krk gS D;ksafd
(a) rqe ogk¡ ls ehyksa rd iQSys dLcs 

vkSj xzkeh.k bykds dks ns[k ldrs 
gks

(b) ppZ fofo/ izdkj dh lkexzh ls cuk 
gS

(c) ;g ns'k ds fofHkUu Hkkxksa ls Hkjk gS
(d) ppZ dLcs ds ckgj gS 
(e) mi;ZqÙkQ esa ls dksbZ ugha

13- fdl ckr ls irk pyrk gS fd ppZ 
,d vuks[kh bekjr gS\
(a) ;g igkM+h dh pksVh ij cuk gS
(b) ;g fofo/ izdkj dh lkexzh ls cuk 

gS
(c) ;gk¡ ls euksje n`'; fn[krk gS
(d) bls ns[kus cgqr ls yksx jkst vkrs gSa 
(e) mi;ZqÙkQ esa ls dksbZ ugha 

14- cfyi'kq (cfy ds fy, i'kq) esa 
dkSu&lk lekl gS\
(a) vf/dj.k rRiq#"k 
(b) deZ/kj;~ rRiq#"k
(c) lEiznku rRiq#"k 
(d) lEcU/ rRiq#"k 
(e) mi;ZqÙkQ esa ls dksbZ ugha 

15- ekSf[kd vfHkO;fDr dks fdl dkS'ky 
Js.kh dk ekuk tkrk gS\
(a) fuEu Js.kh 
(b) eè;e Js.kh
(c) mPp Js.kh 
(d) mPp eè; 
(e) mi;ZqÙkQ esa ls dksbZ ugha



izSfDVl VsLV isij &6
PART – I

(LANGUAGE)

Directions (1-5) : Read the following 
passage carefully and answer the 
questions that follow by choosing 
the right alternatives given at the 
end of every questions:

One winter day, heavy snow was 
a pouring here and there. All the 
roads and fields were covered with 
snow as if they were covered with 
salt. A man, a stranger was on his 
way. He got lost in a vast field. He 
wandered here and there in search of 
the way. But he knew no direction. 
He walked, and got tried. He was 
feeling carefully hungry but still 
kept waiting.

On the second day, he saw a ray 
fo light coming from a distance. He 
headed towards it. There was a small 
house. He knocked at the door. A 
lady appeared. She gave him shelter 
and food. He a be to his appetite and 
slept. It is properly said that love to 
mankind is love to God.
1.  What was pouring on a winter 

day?
(a) snow (b) rain
(c) hail stones (d) salt
(e) Non of the above

2.  Who lost his way?
(a) A king (b) A minister
(c) A man (d) A woman
(e) Non of the above

3.  What did the lady do?
(a) asked him to go away
(b) became angry
(c) gave him shelter and food
(d) None of these
(e) Non of the above

4. Love to mankind is love to ____
(a) man (b) god
(c) animals 
(d) none of these
(e) Non of the above

5.  Give the opposite of 'appeared'.
(a) not appeared 

(b) un appeared
(c) appearance 
(d) disappeared
(e) Non of the above

Directions (6-8) : Fill in the blanks 
in the following sentence with 
appropriate preposition from the 
alternatives given below :
6. The rule is not applicable _____ 

the present case.
(a) on (b) to
(c) with (d) of
(e) Non of the above

7. Your views don't accord ____ 
mine.
(a) to (b) of
(c) with (d) on
(e) Non of the above

8.  I leave my bed _____ 6 O'clock 
daily.
(a) on (b) in
(c) by (d) at
(e) Non of the above

funsZ'k % x|ka'k dks i<+dj fuEufyf[kr 
iz'uksa (iz-la- 9 ls 13) esa lcls mfpr fodYi 
pqfu,A

lwjnkl fgUnh ds ;'kLoh HkDr dfo FksA 
mUgksaus Hkxoku Jhd`".k dh cky yhyk dk tSlk 
fp=.k fd;k gS og fo'o lkfgR; esa nqyZHk gSA 
vfèkdrj fo}kuksa ds erkuqlkj lwjnkl dk tUe 
fnYyh ds fudV cYyHkx<+ ls yxHkx 2 fdeh 
dh nwjh ij ^lhgh* esa gqvk FkkA og tkfr ls 
czká.k Fks fd'kksjkoLFkk dh mez esa lalkj ls 
fojDr gksdj eFkqjk pys x,A ogha mUgksaus in 
vkjEHk dj nh ,oa Lokeh cYyHkkpk;Z us mudks 
viuk f'k"; cuk;k mudh vkKk ls lwjnkl 
esa laLd`r esa JhenHkkxoriqjk.k ds vkèkkj ij 
Jhd`".k dh yhykvksa dk in'kSyh esa o.kZu fd;kA 
,slk ekuk tkrk gS fd lwjnkl tUekaèk Fks ijUrq 
muds dkO; ds i.;Z fo"k; ls Li"V gksrk gS 
fd 'kk;n ,slh ckr ugha gksxh D;ksafd mUgksaus 
viuh dfork esa tks HkO;rk dk o.kZu fd;k 
gS oSlk o.kZu oLrqvksa dks Hkyh&Hkkafr ns[kus ds 
ckn gh fd;k tkrk gSA

9- lwjnkl dkSu Fks\
(a) ys[kd (b) lkfgR;dkj

(c) jpukdkj (d) dfo
(e) mi;ZqÙkQ esa ls dksbZ ugha

10- lwjnkl dk tUe fdl LFkku ij gqvk 
Fkk\
(a) jktdksV (b) iBkudksV
(c) lhgh (d) eFkqjk
(e) mi;ZqÙkQ esa ls dksbZ ugha

11- lwjnkl fdl tkfr ds Fks\
(a) 'kwæ (b) czká.k
(c) oS'; (d) {kf=;
(e) mi;ZqÙkQ esa ls dksbZ ugha

12- lwjnkl ds xq# dk uke crkb,A
(a) ds'konkl (b) rqylhnkl
(c) Jhd`".k (d) cYyHkkpk;Z 
(e) mi;ZqÙkQ esa ls dksbZ ugha

13- Jhd`".k dh yhykvksa dk o.kZu lwjnkl 
us fdl iqjk.k ds vkèkkj ij fd;k\
(a) x#M+ iqjk.k (b) fo".kq iqjk.k
(c) Hkkxor iqjk.k (d) f'ko iqjk.k
(e) mi;ZqÙkQ esa ls dksbZ ugha

14- fuEukafdr iz'uksa esa v'kq¼ crZuh dk 
fodYi dkSu&lk gS\
(a) O;Fkk (b) vkf'kZokn
(c) O;Fkk (d) vn~Hkqr
(e) mi;ZqÙkQ esa ls dksbZ ugha

funsZ'k % x|ka'k dks i<+dj fuEufyf[kr 
iz'uksa (iz-la- 15 ls 20) esa lcls mfpr 
fodYi pqfu,A

bZ'ojpUnz fo|klkxj laLd`r ds izdk.M 
iafMr FksA og fouezrk] lPpkbZ] lnkpkj] 
ijksidkj ,oa vius izpqj Kku ds }kjk lcds 
fiz; cu x;sA ,d ckj dksydkrk ds laLd`r 
dkWyst esa laLd`r vè;kid dk LFkku [kkyh 
gqvkA ogk¡ ds izkpk;Z dks bZ'ojpUnz dk è;ku 
vk;kA mUgksaus muds ikl i=k Hkstdj vkxzg 
fd;k fd og muds dkWyst ds laLd`r O;kdj.k 
vè;kid ds in dks xzg.k dj muds dkWyst 
dks xkSjkfUor djsaA bZ'ojpUnz us i=k i<+k {k.kHkj 
fopkj djus ds ckn vlgefr fy[kdj Hkst 
fn;kA mUgksaus fy[kk ^^vkidks O;kdj.k esa ,d 
fuiq.k vè;kid dh vko';drk gS vkSj eSa 
O;kdj.k esa bruk ;ksX; ugha gw¡ fd fu;qDr gks 
ldw¡ blesa eq>ls vfèkd fo}ku esjs fe=k rkjd 
okpLifr gSaA bZ'ojpUnz fo|klkxj ds izLrko dks 



izSfDVl VsLV isij &7
PART – I

(LANGUAGE)

Directions (1-5) : Read the passage 
carefully and choose the best 
answer to each question out of the 
four alternatives.

Speech is a great blessing but it 
can also be a great curse for while it 
helps us to make our intentions and 
desires known to our fellows, it can 
also if we use it carelessly make our 
attitudes completely misunderstood. 
A slip of the tongue, the use of an 
unusually word or of an ambiguous 
word may creat an enemy where 
we have hoped to win a friend. 
Again different classed of people 
use different vocabularies and the 
ordinary speech of an educated man 
may strike an uneducated listener as 
showing pride; unwillingly we may 
use a word which bears a different 
meaning to our listeners from what 
it does to men of our own class. Thus 
speech is not a gift to use lightly 
without though but one which 
demands carefully handling, only a 
fool will express himself alike to all.
1.  Speech is a great blessing.

(a) if we use it indiscriminately
(b) if we use it carefully
(c) if we use it to please others
(d) if we use if to play one 

against the other 
(e) Non of the above

2.  Speech can also be a great curse
(a) if we express overselves 

alike to all
(b) if  we adopt different 

vocabularies to different 
classes of people.

(c) if we always try to please 
every one with it

(d) if we always try to win 
friends with it

(e) Non of the above
3.  A slip of the tongue means

(a) biting the tongue while 
speaking

(b) telling lies to defend oneself
(c) using word carelessly
(d) incurring loss of profit in 

hasty bargain
(e) Non of the above

4. The passage reveals that
(a) the use of ambiguous and 

unusual word brings us 
friends.

(b) careless use of words 
coeates enemies.

(c) careful use of words may 
bring us profit but not 
friends.

(d) speech always reflects one's 
ettitudes 

 (e) Non of the above
5.  A tool will express himself alike 

to all kinds and conditions of 
men because.
(a) he wants to play with 

people
(b) he wants to deceive every-

one
(c) he wants to amuse everyone
(d) he lacks the power of 

discrimination in the use of 
words.

(e) Non of the above

Directions (6-8 : Fill the 
blanks with right word from given 
alternatives.
6.  I expect _____ he will come

(a) though (b) that
(c) whose (d) who
(e) Non of the above

7.  ______ he said was frue.
(a) where (b) what
(c) because (d) which
(e) Non of the above

8.  I shall do ______ I like.
(a) as (b) who
(c) than (d) what
(e) Non of the above

funsZ'k % x|ka'k dks i<+dj fuEufyf[kr 
iz'uksa (iz-la- 9 ls 13) esa lcls mfpr fodYi 
pqfu,A

MsuekdZ ,d Ñf"k izèkku ns'k gSA ogk¡ 
esgekuksa dk vkuk fdlh R;kSgkj ls de ugha 

ekuk tkrk gSA ;gk¡ ds fdlku vyx&vyx 
viuh xk;sa ugha j[krs cfYd lHkh fdlku 
feydj cgqr lh xk;sa lgdkfjrk esa j[krs gSaA 
vkt fo'o esa [ksrh ds gj dke ds fy, yksxksa 
ds ikl e'khusa gksrh gSa ysfdu MsuekdZ ds yksx 
[ksrh dk dk;Z VªSDVj ls djrs gSaA ;gk¡ xk;ksa dk 
nwèk e'khu }kjk fudkyk tkrk gSA viuh t#jr 
Hkj nwèk j[kus ds ckn ckdh nwèk nqXèk'kkyk igq¡pk 
fn;k tkrk gSA ?kh ngh eD[ku eBk ;g lHkh 
nqXèk'kkyk esa gh cuk;k tkrk gS vkSj ;s lHkh 
[kk| phtsa os yksx nqXèk'kkyk ls gh [kjhnrs 
gSaA dkj[kkuk ogk¡ ekewyh ckr gS ysfdu ?kksM+s 
j[kuk ‹kku dh ckr gSA

9- MsuekdZ dSlk ns'k gS\
(a) i'kq if{k;ksa dk (b) iQS'ku ijLr
(c) m".kizns'k (d) Ñf"kizèkku
(e) mi;ZqÙkQ esa ls dksbZ ugha

10- dbZ fdlku feydj cgqr gh xk;sa dgk¡ 
j[krs gSa\
(a) rosyk esa (b) xks'kkyk esa
(c) >ksaiM+h esa (d) lgdkfjrk esa
(e) mi;ZqÙkQ esa ls dksbZ ugha

11- MsuekdZ ds yksx nqXèk ls cuh [kk| 
lkexzh dgk¡ ls [kjhnrs gSa\
(a) dkj[kkus ls (b) ,d nwljs ls
(c) nqXèk'kkyk ls (d) nqdkuksa ls
(e) mi;ZqÙkQ esa ls dksbZ ugha

12- MsuekdZ esa xk;ksa dk nwèk dSls fudkyrs 
gS\
(a) e'khu ls (b) lqbZ yxkdj
(c) nwgdj (d) ekfy'k djds
(e) mi;ZqÙkQ esa ls dksbZ ugha

13- ogk¡ dkSu&lk tkuoj j[kuk 'kku dh 
ckr ekuk tkrk gS\
(a) ?kksM+s (b) gkFkh
(c) 'ksj (d) cdjh
(e) mi;ZqÙkQ esa ls dksbZ ugha

14- uhps fn, x, fodYiksa esa ls dkSu&lk 
‹kCn fn;s x;s ‹kCn dk i;kZ;okph 
ugha gS\

 eLrd—
(a) Hkky (b) yykV 
(c) f'k[kj (d) ekSfy
(e) mi;ZqÙkQ esa ls dksbZ ugha



izSfDVl VsLV isij &8
PART – I

(LANGUAGE)

Directions (1-5) : Read the following 
passage carefully answer the 
questions that follow by choosing 
the right alternatives.

Dog were once their own masters 
and lived the way involves do, in 
freedom, until a dog was born who 
was ill pleased with this way of life. 
He was sick and tried of wandering 
about by himself looking for food 
and being frightened of those who 
were stronger than he.

He though it over and decided 
that the best thing for him to do was 
to become the servant of one who 
was stronger than anyone on earth, 
and he set out to find such a master. 
1.  What sort of life did dogs once 

live?
(a) Life of slaves
(b) Lived in forests
(c) Lived in freedom
(d) Lived in dens
(e) Non of the above

2.  What was the dug sick and 
tried of”?
(a) Wandering for food
(b) fear of stronger animals
(c) Both (a) and (b)
(d) None of these
(e) Non of the above

3. What did he decide to do ?
(a) To have a strong master for 

protection
(b) To have a rich master
(c) To have a strong master
(d) None of these
(e) Non of the above

4. Give the meaning of ill pleased
(a) pleased 
(b) pleasing
(c) ill mannered 
(d) unhappy
(e) Non of the above

5.  Which of the following is 
closely related to ‘dogs'.

(a) Lions (b) Wolf
(c) Man (d) Cat
(e) Non of the above

Directions (6-8) : Choose the most 
appropriate preposition :
6.  It is dangerous to intrude _____ 

the enemy's camp.
(a) in (b) into
(c) on (d) through
(e) Non of the above

7.  Osama-bin-laden has lived 
_____ the gun all his life.
(a) for (b) by
(c) with (d) on
(e) Non of the above

8.  The mother was anxious _____ 
the safety of her son.
(a) at (b) for
(c) about (d) upon
(e) Non of the above
funsZ'k % x|ka'k dks i<+dj fuEufyf[kr 

iz'uksa (iz-la- 9 ls 13) esa lcls mfpr fodYi 
pqfu,A

bl laalkj dh jhfr ;g gS fd lR;oknh 
lnSo ekjk tkrk gS vkt ls lgL=ksa o"kZ iwoZ xzhl 
esa lqdjkr uked egku nk'kZfud jgrk Fkk mldh 
ckrsa lhèkh&lPph ijUrq rh[kh gqvk djrh Fkha 
ftlds dkj.k lekt dks og vlguh; Fkk vkSj 
mls dkuwuh vkKk dk ikyu djrs gq, fo"k dk 
I;kyk ihuk iM+k] blh izdkj rRdkyhu 'kklu 
lÙkk rFkk lkekftd ,oa èkkfeZd nqjkpkjksa ds 
fo#¼ vkokt mBkus okys bZlk elhg dks Hkh 
lwyh ij p<+uk iM+kA lkEizknf;d fojksèkh dks 
'kkUr djus ds fy, xk¡èkh th Hkh ,d LFkku 
ls nwljs LFkku Hkze.k djrs fQjs vUr esa mUgsa Hkh 
xksyh dk f'kdkj gksuk iM+kA vr% lalkj ds 
lkeus ;gh iz'u mBrk gS fd D;k lPpkbZ ij 
pyus okys dk vUr blh izdkj gksrk jgsxkA

9- xzhl ns'k dk egku nk'kZfud dkSu Fkk\
(a) vjLrw (b) IysVks
(c) lqdjkr (d) xk¡èkh
(e) mi;ZqÙkQ esa ls dksbZ ugha

10- fo"k dk I;kyk lqdjkr dks D;ksa ihuk 
iM+k\
(a) og dVqHkk"kh Fkk 

(b) og lR; fdUrq rh[kh ckrsa dgrk Fkk
(c) og lR;oknh Fkk 
(d) og vlR;oknh Fkk
(e) mi;ZqÙkQ esa ls dksbZ ugha 

11- lwyh ij fdls p<+k;k x;k\
(a) xk¡èkh th 
(b) usrkth lqHkk"kpUnz cksl
(c) bZlk elhg  (d) IysVks
(e) mi;ZqÙkQ esa ls dksbZ ugha

12- fuEu esa ls fdlds fo#¼ vkokt mBkus 
ds fy, bZlk elhg dks lwyh ij p<+uk 
iM+k\
(a) lkekftd nqjkpkjksa ds fo#¼
(b) 'kklu lÙkk ds fo#¼
(c) èkkfeZd nqjkpkjksa ds fo#¼
(d) mijksDr rhuksa ds fo#¼
(e) mi;ZqÙkQ esa ls dksbZ ugha 

13- lkEiznkf;d fojksèkksa dks 'kkUr djus 
ds fy, dkSu txg&txg Hkze.k djrs 
jgs\
(a) usrkth lqHkk"kpUnz cksl
(b) ljnkj cYyHk HkkbZ iVsy
(c) egkRek xk¡èkhth
(d) tokgj yky usg#
(e) mi;ZqÙkQ esa ls dksbZ ugha

14- ^xksnke* fdl Hkk"kk dk 'kCn gS %
(a) iQkjlh (b) iqrZxkyh 
(c) rqdhZ (d)  vjch
(e) mi;ZqÙkQ esa ls dksbZ ugha 

funsZ'k % x|ka'k dks i<+dj fuEufyf[kr 
iz'uksa (iz-la- 15 ls 20) esa lcls mfpr 
fodYi pqfu,A

fo'o lkr egkns'kksa esa foHkDr gSA mu 
lHkh esa ,f'k;k lcls cM+k egkns'k gSA Hkkjro"kZ 
,f'k;k egkns'k ds vUrxZr vkrk gSA Hkkjr dh 
vkcknh yxHkx ,d vjc dks Hkh ikj dj 
pqdh gSA Hkkjr ,d èkeZ lkEiznkf;d ns'k gSA 
lHkh tkfr ds yksx vkil esa fey&tqydj jgrs 
gSaA ,d izèkku ns'k gksus dkj.k ;gk¡ vfèkdrj 
turk xk¡oksa esa jgrh gSA Hkkjr dh eq[; iSnkokj 
puk] nygu xsgw¡] èkku] rsygu elkys bR;kfn 
gSA ve#n] lsc] ukjaxh] iihrk ,oa dsys vkfn 
Qy Hkh ;gk¡ iSnk gksrs gSaA bl ns'k ds eq[; 
ioZ R;kSgkj gS—nhikoyh] gksyh] n'kgjk] bZn] 
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